18" OVERHANG J

18" OVERHANG J

PROPOSED 29-GAUGE VERTICAL METAL

SHEATHING (TYP)

16' 0" EAVE HEIGHT

22' 2" PEAK HEIGHT

40' On

/~A™\ FRONT ELEVATION

@ SCALE: 1/4" = 1-0"

PROPOSED 29-GAUGE VERTICAL METAL
SHEATHING (TYP)

16' 0" EAVE HEIGHT

22' 2" PEAK HEIGHT

40' On

/"C "\ REAR ELEVATION

@ SCALE: 1/4" = 1-0"

DESCRIPTION

BY

DATE

DESCRIPTION

REVISIONS:

DATE

ENGINEERED PERMITS, INC.
311 SOUTH WOODLAND BIVD.
SUITE A

DELAND, FL 32720

PHONE: 386-734-0830

FAX: 386-734-8226

CERT NO. 26298

EMAIL: epi@epieng.net

@)
Z
PROPOSED RIDGE CAP I—
(TYP) |_
PROPOSED 29-GAUGE VERTICAL METAL —
SHEATHING (TYP) E
-
LLI
/ (Al
[}
@)
Z
= =
5 Z
< <C
o ]
& (Al
& 5
m
; °
@)
Z
s
LLI
LLI
Z
@)
=
60'0" LIJ
@ SCALE: 1/4" = 1-0"
PROPOSED RIDGE CAP
(TYP)
/ PROPOSED 29-GAUGE VERTICAL METAL
SHEATHING (TYP)
T
O
£
5
83
£
2
5
©

60‘ Ou

/ D\ LEFT ELEVATION

@ SCALE: 1/4" = 1-0"

O

=

(A

S |

S | =

S el = =

LDI—:) <o

== a

ELI_ N —1
O —> L

80 o

LI_ID:

L

o =

L <C .

Ll

g =

& —

L —

) Lil

() LI

(a= I

o ([@p]

IR T)
\\\“ J ] ”"uf}

s‘\ \'.-“ se, X i
s X
SX (o B ":?%7;_.‘ g ¢
;; 8-3.0-2004) "’ = 5 g
%’33.'*. STATE |OF lfz:é' S $
L oo o r S 33t
NP b L
“7 W TO
CLIENT INFORMATION: A RS Sut
POLE BARN PLAN PREPARED FOR;
PRECISION ALIGNMENT AND REPAIRS
1626 NW MAIN BLVD, LAKE CITY, FL 32055
DESIGN STATEMENT: SHEET NO.
THESE PLANS WERE DESIGNED FOLLOWING THE 2020 7TH EDITION
FLORIDA BULLDING CODE AND ASCE 7-16NCLUDING CHAPTER 16 ON
STRUCTURAL DESIGN. AN ULTIMATE WIND SPEED OF 140 MPH,
(3 SECOND GUST) IN WIND EXPOSURE CATEGORY 'C". THIS STRUCTURE S_ )
HAS BEEN DESIGNED AS RISK CATEGORY Il, THE COMPONENTS AND CLADDING
WERE DESIGNED BASED ON AN PARTIALLY ENCLOSED STRUCTURE.
DATE: 8/30/2022

8/30/2022

3756 PU

M:N\F reedom Metals\Site Specific\Precision Alignment and Repair\Planview0!.dgn

“*THIS ITEM HAS BEEN ELECTRONICALLY SIGNED AND SEALED BY MICHAEL J. WOJTUNIAK, P.E. ON 8/30/2022 USING A SHA AUTHENTICATION CODE. PRINTED COPIES OF THIS DOCUMENT ARE

NOT CONSIDERED SIGNED AND SEALED AND THE SHA AUTHENTICATION CODE MUST BE VERIFIED ON ANY ELECTRONIC COPIES. UNLESS THE RAISED SEAL HAS BEEN UTILIZED. ***


Mike
New Stamp


(0'e)

26GA METAL ROOFING ATTACHED TO OVERALL REVISION DATE (ZD
2x6 SYP PT PURLIN W/ #9 X 1" WOODGRIP RIDGE CAP May 5, 2022 = )
SCREW 16" O.C. (TYP) - 5
o %2 SYP PT PURLING (5) - 1/2" THRU BOLTS THRU 5/8" HOLE (TYP) GENERAL NOTES = :
SPACED 24" O.C. &
- 4" x 4" X 2" x 14GA PURLIN CONNECTOR 1. ALL CONCRETE WORK SHALL BE 3,000 P.S.I. AT 28 DAYS. o °
1] SPACED 24" O.C. AND WELDED TO 2. MINIMUM SOIL BEARING SHALL BE ASSUMED AT 2,000 P.S.F. LLI
L s o e o k o0 Gy i TSI ROMEED B gronCe 8
ﬁﬂéﬁ,ﬁ%&@é‘g%&nﬁgﬁgﬂ'ﬂ%wm’ it = 2" X 2" x 316" TOP CORD 7-16 WIND CODES FOR AN ULTIMATE WIND SPEED OF 140 MPH AND GREATER. 5
: o) z — 1-1/2"x 1-1/2" x 3/16" WEBBING THESE PLANS INCLUDE DESIGN FOR ALL WIND
o ™ — WELDED TO TOP AND BOTIOM CORD (IVP) SPEEDS UP TO AND INCLUDING 150 MPH ULTIMATE WIND SPEED. w
%6 RAT RUN FASTENED TO 1/3 4, ALL SIDING AND ROOFING TO MINIMUM OF 26 GAUGE L 5
#12-14 % 1-1/2" TEK SCREWS = / g 1-1/2" x 1-1/2" x 3/16" VERT. END CORD BE A MIN. OF 3 SPAN.
PER CONNECTION 12 10" 2 FASTENED TO 6xé OR 8x8 PT POST W/ 5. FOR ZONE LOCATIONS SEE FBC FIGURE 1609(c). THE
’ (3) 1/2" x 7" OR 9" THRU BOLT, NUT AND VALUE OF "o SHALL BE 3-0". FOR ZONE LOADING SEE
(173 BN, WASHER ASSY. (TYP) gOMPBIIE\JSElgTNs LACSIBD%\ILéngNG LOADING CHARTS THIS SHEET. ) z
" DEAD LOAD = 4 PSF Z | &
ROOF LIVE LOAD = 20 PSF — 2
WIND LOAD = PER TABLE = s ©
- (/3 s 7. DOOR AND WINDOW DATA: PER TABLE = ‘é’
. LEng; 8.  ALL WINDOWS AND MAN DOORS MAY USE 12-14 1-1/4" LONG S
z 40' 0" ) ;i TEK SCREWS IN LIEU OF THE WOOD SCREWS WHEN T O
2 x 2% x 3/16" BOTIOM CORD CONNECTING THE UNITS TO METAL FRAME. FOLLOW THE D
A | X2°X MANUFACTURERS SPECIFICATIONS FOR LOCATING CONNECTORS. N
40' BAR JOIST DETAIL e O oSz >
6x6 OR 8x8 PT POST (TYP) g
SCALE: 112" = 10 BUILDING CATEGORY ) =
S-1 ' 10. CORNER BRACES REQUIRED ONLY REQUIRED WITH WIND SPEEDS
GREATER THAN OR EQUAL TO 150 MPH OR AS CALLED OUT ON PLANS. °
60' 0" 11.  ALL WELDS ARE CONTINUOUS WELDS DONE AT THE FACTORY.
12. ALL STEEL BUILDING MATERIALS ARE FLOOD RESISTANT AND WILL NOT
100" 100" 100" 100" 100" 100" BE DAMAGED BY FLOOD OR RAIN.
m".———— """ """ """ "~ " "0 V¥ ¥ Y7y == 1 (D
/T
| 5 5 5 5 | NOTES: >
| ” ENCLOSED | =
| 18" EAVE SIDE 8X8 POST (TYP) | 1. MATERIALS SHALL CONFORM TO STEEL ASTM 513 o
| OVERHANG | 2. ALL STEEL SHALL BE 50 KSI IN ACCORDANCE WITH CURRENT ALSC MANUAL. LI exanessep s e,
| | 3. WELDING ELECTRODES TYPE E70XX LLI fjjonsor |
| ¢ NO OVERHANG 4. ALL WELDING SHALL BE IN ACCORDANCE WITH CURRENT AWWA REQUIREMENTS| [ < ||| oecao. L aerzo
| | OVERHANG 5. ALL WELDING SHALL BE DONE BY A CERTIFIED WELDER. (5 |[ Frove s reste
| | 6. BOLTS SHAT BE ASTM A325 W/ WASHERS AND NUTS (TYP), = || e e
\ | 7 WELD STRENGTH 70 KS' MlN LlJ EMAIL: epi@epieng.net
| | 8. ALL POST SHALL BE PRESSURE TREATED GROUND CONTACT.
| | 9. PRIMING & PAINTING SHALL BE DONE BY TRUSS MANUFACTURER
= 40' X 60' X 16' | ENGINEERS NOTE: 10. MIN. EDGE DISTANCE FOR BOLTS HOLES SHALL BE 3/4" MIN.
_ IR% PARTIALLY ENCLOSED Z | THIS ROOF SYSTEM HAS BEEN 11. MAX TRUSS SPACING SHALL NOT EXCEED 12' 0" O.C.
o 19 POLE BARN 5| DESIGNED FOR A SOLAR PANEL 12. THE DESIGNER DISCLAIMS ANY RESPONSIBILITY FOR DAMAGES AS A RESULT OF
Q | O 8X8 POSTS | LOAD OF 5 PSF. POOR WORKMANSHIP, OR IMPROPER USE, AND ACCEPTS NO RESPONSIBILITY OR
| & | EXERCISES NO CONTROL WITH REGARD TO FABRICATION, HANDLING, AND
| 3/12 PITCH | INSTALLATION OF TRUSSES o9 | 4
| 29 GA SHEATHING | = n L
N NN 195
| | =
} } COMPONENTS AND CLADDING (exp=B. gcpi=0.00 (Open)) C<'E) § 'cZ)
} } VELOCITY PRE%JSEE - = 5)3 S
T NO OVERHANG | OLIMATE 1 ROQOF 3 4/5 AVG OI'QI\/IAIYVALLS 475 AVG PARALLEL 5: % %:
} OVERHANG } 130 MPH | -12.4 185 309 | +127 | 143 | +146 | 199 = 0 f
| | 140 MPH | -14.3 -21.5 -35.9 +14.8 -16.6 +16.9 -23.1 % O <C
} 8X8 POST (TYP] } 150 MPH | -16.5 -24.7 -41.2 +16.9 -19.0 +19.4 -26.5 S 8 %I)
} f ENCLOSED } COMPONENTS AND CLADDING (exp=B. gcpi=+/-0.18 (Enclosed)) % % E
‘ ‘ PRESSURE (PSF) <t | ..
| X X X X X | VELOCITY ZONE LLl
| ‘ ULTIMATE ROOF WALLS —
*************************************************************** 1 2 3 475 AVG NORMAL 475 AVG PARALLEL — =
k\ " 130 MPH | -15.1 -21.3 -33.7 +15.5 -17.1 +17.4 -22.7 &J) —
.l 8 EAVE SIDE 140 MPH | -17.6 -24.7 -39.1 +18.0 -19.8 +20.1 -26.3 8 m
OVERHANG 150 MPH | -20.2 28.4 449 | +207 | 207 | +231 | -30.2 o I
COMPONENTS AND CLADDING (exp=B. gcpi=+/-0.55 (Partially Enclosed)) R
/"C\SITE SPECIFIC PLAN oy Michael )
- ' 1 2 3 4/5 AVG NORMAL 4/5 AVG PARALLEL o . p
S .l 130 MPH | -20.9 -27.1 -39.4 +21.2 228 | +23.1 -08.4 WO tu N |a k:AO
140 MPH | -24.2 -21.4 -45.7 +24.6 -26.4 +26.8 -32.9
26GA METAL ROOFING ATTACHED TO RIDGE CAP 150 MPH | -27.8 -36.0 525 | +28.3 | -30.3 | +327 | -37.8 -7
2x6 SYP PT PURLIN W/ #9 X 1" WOODGRIP 26GA METAL ROOFING ATTACHED TO NOTE TO |NSTA|.I.ER 410P000001 4
SCREW 16" O.C. (TYP) 2x6 SYP PT PURLIN W/ #9 X 1" WOODGRIP
2x6 #2 SYP PT PURLINS SCREW 16" O.C. (TYP) 1. INSTALLER SHALL ADD LATERAL BRACING DURING THE 271pBDECO00
SPACED 24" O.C. (5) - 1/2" THRU BOLTS THRU 5/8" HOLE (TYP) ERECTION PROCESS TO PREVENT BAR JOIST MOVEMENT. 3CC E
2" x 2" x 3/16" TOP AND BOTTOM CORD (TYP) : — : Ox6 #2 SYP PT PURLINS A
, 1-1/2" x 1-1/2"  3/16" VERT. END CORD ‘M@ ) SPACED 24" O.C. WEENC 1P AND BOTIOM CORD P FIELD LEADING EDGE  pigitall signed by Micha
. FASTENED TO 6xé OR 8x8 PT POST W/ i = == 4"x4"x 2" x 14GA PURLIN CONNECTOR DESCRIPTION Wojtur{iak:A01410D00000
3) 1/2" x 7" OR 9" THRU BOLT, NUT AND 77 ¢ = SPACED 24" O.C. AND WELDED TO ZONE 1 ZONE 2 ZONE 3 J
WASHER ASSY. (TYP) ' \ 3 TOP CORD (TYP) | 8271 5EDEC00003GCE
H - ” - 1-1/2"x 1-1/2" x 3/16" COLLAR TIE MAXIMUM UPLIFT DESIGN PRESSURE 34.3 37.7 52.8 DN:fe=Ys, o=Unaffiliated
1-1/4" x 1-1/4" x 1/8" WEBBING \ V 2" x 2" x 3/16" TOP CORD (TYP) WELDED CONNECTION (TYP) cii=Midhael J
WELDED TO TOP AND BOTTOM CORD (TYP) oC. < \ FASTENER PATTERN 9'-9"-9".9" 6'-3-6"3"6" 11
on 1-1/4" x 1-1/4" x 1/8" WEBBING Woijtuniak:A01410D00000
2x6 RAT RUN FASTENED TO . WELDED TO TOP AND BOTTIOM CORD (TYP ; ; 827 5§DEC00003CCE
PURLIN CONNECTOR W/ (2) \ " i S PR AT Lo O Bt 2022.08.30 16:0052
#12-14 x 1-1/2" TEK SCREWS 2" x 2" x 3/16" BOTTOM CORD : *DESIGN PRESSURE BASED ON A SAFTEY FACTOR OF 2* 0400
PER CONNECTION =LY S8R,
6x6 OR 8x8 PT POST (TYP) 1-1/2"x 1-1/2" x 3/16" COLLAR TIE &‘Q‘&?f.\-’;“' I
ATTACHED W/ (2) 2-1/2" THRU BOLT, WASHER, Sy Le 5
NATURAL GROUND (TYP) AND NUT ASSY. PER CONNECTION (TYP) m ?{/@o 's;j;é :
G =1 g.30.200 tnE ¢
== | | | I " (10) BAGS MIN. 3000 PSI CONC. (TYP) m CENTER RIDGE SECTION COLI—A_R TlE DETAIL Rt fmE,§
S_'l SCALE: 1/2" = 1-0" S_'| SCALE: 1/2" = 1"-0 :"530-.. STAJE OF Lléq;‘;jgg
i—‘*i: —— = — # 5 12" REBAR EACH WAY (TYP) o T ML ARR s o
il 5 GRAVEL (1 ROCK MAX CLIENT INFORMATION: R R
) ‘ = = 2 PREDRILLED 5/16" HOLES 1/4"x 1-1/2" LAG BOLT (TYP) oL BARNPLANPREFARED PO s
E — o i on ﬂﬁ 1" 1] X 1- n
HE W BAR JOIST SIZE P]O8S"T rleSéllE;IéEW/ FOR (4) 1/4" x 11/2' LAG T ﬁj‘ )
— — . X BOLT AND WASHER ASSY -
— — : UPTO 30 12" MIN. #5 REBAR (vP) NG — % ~+ - PRECISION ALIGNMENT AND REPAIRS
E — % I \ I \ 24" R X 48" D W/ 2II X 4II X 4II X '| 4GA 2II X 4II X 4II X '| 4GA \ ! ! E\I ‘
N — o 30°1"-40°0" | 14 MIN. #5 REBAR PURLIN CONNECTOR PURLIN CLIP T | 1626 NW MAIN BLVD, LAKE CITY, FL 32055
= ’ = 1/4"x 1-1/2" LAG BOLT === |
T ==lI||||= - AND WASHER ASSY. (TYP) 1 I
|
¢ 18" OR 24" -
m NOTE: HOLES ARE ROUND. DESIGN STATEMENT: SHEET NO.
POST AND FOOTING DETAIL m PURLIN BUTT JOINT m PURLIN CLIP THESE PLANS WERE DESIGNED FOLLOWING THE 2020 7TH EDITION
S_ '| SCALE: 1/2" = 1-0" 3 SCALE' NTS FLORIDA BUILDING CODE AND ASCE 7-16.INCLUDING CHAPTER 16 ON
) ' w SCALE: NTS STRUCTURAL DESIGN. THIS STRUCTURE HAS BEEN DESIGNED WITH AN
MINIMUM ULTIMATE WIND SPEED OF 130 MPH, S_ 1
(3 SECOND GUST) IN WIND EXPOSURE CATEGORY "B", THIS STRUCTURE
HAS BEEN DESIGNED AS RISK CATEGORY I, THE COMPONENTS AND CLADDING
WERE DESIGNED BASED THE INCLUDED TABLE DESIGN PRESSURES.
DATE: 8/30/2022

8/30/2022 3e7:9 PU M:N\F reedom Metals\Site Specific\Precision Alignment and Repair\Planview0!.dgn

AK, P.E. ON 8/30/2022 USING A SHA AUTHENTICATION CODE. PRINTED COPIES OF THIS DOCUMENT ARE

L. wouToNI
NOT CONSIDERED SIGNED AND SEALED AND THE SHA AUTHENTICATION CODE MUST BE VERIFIED ON ANY ELECTRONIC COPIES. UNLESS THE RAISED SEAL HAS BEEN UTILIZED. ***

_._
~
E

—

**THIS ITEM HAS BEEN ELECTRONICALLY SIGNED AND SEALED BY MICHA


Mike
New Stamp


	Elevations01
	Planview01

		2022-08-30T16:00:52-0400
	Michael J Wojtuniak:A01410D000001782715BDEC00003CCE




